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Question Key Objection Type
A IR TR FAFR *
T T 6, WA W A st v st 1w § | S5 2000 § 9 2002 7 F dtw @ w A --Select--
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In a school, periodical examinations are held every two months. During the academic session from
April 2001 1o March 2002, a Class IX student appeared in each of these periodical exams. The line graph
below shows the total marks obtained by the student in each periodical exam.

e AT T § A fe 6 - 500

Mu:‘mum Total Marks in each periods

31/ Marks
w
2

#2001 FH-2001 HEA-2001 FgE-2001 REER-2001 w2002

Apr-2001 Jun-2001 Aug2001 Oct-2001  Dec-2001  Feb-2002
srme 2001 3 s 2001 $ safirs afiesit i freme o g aw s = v Fnd
What is the percentage of the marks obtained by the student in the periodical exams of August 2001 and
October 2001 combined ?

a) 755% (B) 735% (©) 785% D) 7%
e 1 sy ifire i R 1 g 7 i | D F-Select--
FEE | wFaEe | sifE g 3 Fwagea | smve %
] 12600 +20% 10% W R
2 12850 +25% 15% X s
3 12570 -30% 12% ¥ r
4 12200 - 10% 20% z
(A) 18% (B) 10% (©) 20% D) 8%

Study the rable and find the value for R.

Explain what is wrong?
A fF FTEa &+

Reference Document
"= sFEw

Choose File | No file chosen

Choose File | No file chosen

Atticles | Cost | Marked | Discount | Sclling | Profivioss %
Price | Price Price
1 12600 | +20% 10% W R
2 12850 | +25% 15% X 5
3 12570 | -30% 17% Y T
1 12200 | -10% 0% z
(A) 18% B 10% (©) 2% D) 8%
Freeiferfiaa s § o @ i i | B

Find the missing term in the following series.
361,289, 169, 49
A) 91 (B) 121 € 81 (D) 125

et e &, st fir o v 3 o = st e Pt & e fg e ) 3 & o o i o c |-Select--
37 s T T START A A S A HwAT | 36 97 SR |

foen v v - “GENTLEMAN"

In the following question, you will find four other words provided as alternatives alongside a given word

One of these words cannot be formed using the letters of the given word. Idemtify that word.

Given word : “GENTLEMAN"

Choose File | No file chosen

Choose File | No file chosen

(A) ANGLE (B) MAGNET (C) GENERAL (D) GLEAM

Frferfia # & e v % s sfrel vt #9 6 2 B F-Select--
Which of the following words has its letters in alphabetical order ?

(A) Behind (B) Below (C) Beside (D) Between

o ¥ 3 i | D --Select--
T T 7

(A) drem (B) TR (©) e (D) =¥

Find the missing word.

Apple : Red :: Coal : ?

(A) Yellow (B) Orange (C) Blue (D) Black

o i, vt A 1, - o W A & R F, K R g [ --Select--

Freffisa #ie fom & psDF s # B, D@ i ® oD T i B, DR A DT FE R DF
wi # i BID T st & B, DA )

Among the provided options, which expression indicates that F is the mother of K ?

Given the following codes : BSD means B is the father of D, B9D means B is the sister of D, BAD means
B is the brother of D, and B3D means B is the wifc of D,

(A) FOMANIK (B) F3MANOK (C) F3MSK (D) FSK3M

Choose File | No file chosen

Choose File | No file chosen

Choose File | No file chosen

afz o, FEE R, @, o BIEE, 8, -+ i § HR %, - w i g, B --Select--
A20815# 10 @ 45% IS TAAFNE?

If " represents "', *(@’ represents *x’, *8” represents “+* and *%’ represents *+*, then what s the value of

208154 10@45% 157

(&) 20 ® 5 © @) 1

ey, s fereft 1 often &, w1 o 2 & 1 o, ol o ot &, it o, et o sorelelt e & 1 o Foret @ c |-Select--
foamd?

&) (B) v (© fmr o)

Alan, who is the brother-in-law of Lilly, is the son-in-law of Sam. June is the mother of Amy, who is the
only sister of Lilly. How Sam is related to Lilly ?

Choose File | No file chosen

Choose File | No file chosen

(A) Husband (B) Nephew (€) Father (D) Daughter

Freffra Fifa 6 4 s & & 2 sl e AR R @ A ) c --Select--
Determine which of the given figures completes the main figure,

= t

Main figure :

N ?

oA eF  oF N

frew T o) c L-Select--
Fill in the blank.

96,6035, 10
(A) 20 (B) 15 ©) 19 (D) 25

Choose File | No file chosen
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Examine the given diagram and respond to the following question.
—> Persons who drink tea

X BN
[0/{is\ 30 J 0] () — persons who ik coftce

L :l —3 Persons who drink juice

How many individuals drink all three 7
Ay 17 | 7 © 10 (D) 15

s & o[ s (A, B) i Fif s B x A %1 9R w1 Fif |

Find the missing numbers (A, B) in the series and find the value of B x A.
26,39,52,A,78,91,B

(A) 3460 (By 2570 (C) 6760 (@) 5370

f afior. e wivem a e &, Iw-d 2 am v & g, A g wn a2

(A) ahorafEm (B) ImufrEm (€) @ (D) wfEm
If South-East becomes West, North-East becomes South and so on, then what will East become ?
(A) South-West (B) North-West (C) South (D) West

AR+ TR AL RS THAME S - THadds, THTAL S%UTHAdS, THam Eaw § x TH
and & s, T wiE &, 1 Frefeafiaa o @ ¥ gt & e, K faan g2

IFS + T means S is the father of T, § - T means § is the sister of T, S % T means § is the mother of T and
S x T means S s the brother of T, which of the following shows that ] is the paternal aunt of K ?

A) J-L+MxK  (B) K+M-L%J  (C) KxM+L%J (@) K%M-L-J

o T i 3 T W e v |

fira .z 2

(A) From  wam (B) T et

(©) (D) & &0

Find the correct altemative on the basis of the given relationship.

Fall ; Pain :: ?

(A) Fall: Step (B) Food : Happy

(C) Laugh:Cry (D) Disobedience : Punishment
wHefa 9153 1 Fife |

g, 7, 9, %, 7

(A) wfmt ®) (C) mar ) ¥
Find out the related word.

Root, Trunk, Leaves, Fruits, ?

(A) Vegetables (B) Plants (C) Branch (D) Trees

a3 gy 8 T o i s o e i 4 g, 17 fe e 1 s g
Fnag

(A) oFm | (©) = (D) T

If you are initially facing North-East and tur 43 degrees to your right, what direction are you facing now ?
(A} West (B) East (€) South (D) North
wafem 7oz g Hifer)

e : foemd - drgren s 7

(A) W 1\ FEm (C) TR+ () Freor

Find the related word.

Map : Directions :: Manual : ?

(A) Procedure (B) Instructions (C) Natwral (D) Controls

aft 120 =fw wfafi 6 2 w7 ok v a1 16 Fot 3 ofte g0 w o E, 64 s i el e a2
e A it afs s ar w1 Fet e g P a2

(A) 179 B 159 ©) 169 D) 129

1f 120 persons can finish a work within 16 days by working 6 hours a day, then the number of hours per
day that 64 persons should wark to finish that same job within 15 days is :

(@) 17 hours (B) 15 hours (€) 16 hours (D) 12 hours

O AL TR A FA G TR A9 2 e @ A e Rt % fo 960 m s e
T (ATZ) I FA | Al T T A e # 7

A dishonest shopkeeper professes to sell goods at his cost price but uses a false weight of 960 gm for each
kilogram. What s his gain percent 7

1 1 2 3
(A) 4z% B) 95% © 65% ©) 555%

T e 1 e 1/ s 7 20/f i v a3 v e i s e ot
it € 16.50/Fei 3 Fisa et zre w fison o s

In what ratio must the grocer mix two types of pulses costing ¥ 15/kg and ¥ 20/kg respectively so as to get
amixture of pulses costing % 16.50kg ?

Ay 5:7 ®) 3:7 © 7:5 D) 7:3

7 10 wigemd 10 e § 100 e S draw ww wwd ¥ 1 600 ien 1 daw w14 g s
20 wigensit 1 fer fa e 2

Ay 2w0fE ®) 15fm (© 30fm [

7 men or 10 women can build a wall of 100 metres in 10 days. How many days will 14 men and 20 women
take 10 build a wall of 600 metres ?

(A) 20 days (B) 15 days (€) 30days (D) 25 days

o Farewn £ 2,550 3um st  ford @ s b Bl 8 2 ol & sda o a0 ofr ol @ mfr e
T e sy fan e & | e frw Rt et 2

A builder borrows ¥ 2,550 to be paid back with compound interest at the raie of 4% per annum by the end
of 2 years in two equal yearly instalments. How much will each instalment be

(A) ®1377 (B) 1352 €) %1.203 (D) ¥1275

2T o A 3% WE 10,000 % o Swfe ufi sl swafa = e il
Find compound amount and compound interest for ¥ 10,000 at 3% interest per annum in 2 years.
(A) T10509.2509 (B) T10609.2609  (C) T10309,7309 (D) T10409,7409

e g P S W ) 1 50% W st e § it 40v ) g 3 d ) ai w e v 1,600 B, A
LG ES LR

A retailer marks up his goods by 150% and offers a 40% discount. What will be the selling price if the cost
price is € 1,600 7

(A) 2,500 (B) 2400 (©) 2,000 (D) 3,000
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F TR F T 480 T A9 W OF 2l 1 10% 1 6fy 6 2 1 38 9@ fem e w0 aeen anfen, afs T
20P% T T FAY, 7

By sclling an anticle for % 480, a man incurs a loss of 10%. At what price should he sell it, 5o that it makes
aprofit of 20% 7

(A) T680 (B) 7664 i€) T640 (D) 7600

O e & St 1 s e d e 8,500 # | aft 7 2l w s i 3 e 10,000 & sfe i
i w2 7,800 &, A wrden # af fi pm wn A e

The average monthly salary of the workers in a workshop is ¥ 8,500. If the average monthly salary of
7 workers is % 10,000 and average monthly salary of the rest is ¥ 7,800, the total number of workers in the
workshop s :

(A) 20 (B) 18 € 24 D) 2

AT 6 T T FEATH] A S 183 #, A 1w I A |

If the average of 6 consecutive even numbers is 183, find the smallest number.
(A) 176 (B) 178 (©) 194 (D) 181

1 waferal 1 1 F S 10 63 I 2w S 18 10 | 3 3 E 5,200 0T 3,600 T
§ s amaE?

The ratio of income of two persons is 10 : 6 and that of their expenditures is 1 : 10. If they save ¥ 5,200
and ¥ 3,600 respectively, their incomes are

(A) T6000; TI600 (B) T16000; T9600 (C) TI.000; T5400 (D) ¥10,000; T6,000

129% TR <091 3 9 % 54 € 10,920 5 01 7 WA fhar it o 6 €6 2
‘What annual instalment will discharge a debt of % 10,920 due in 3 years at 12% simple interest ?
(A) T2750 (B) 2,500 (©) 3250 (D) 3,000

@ 105 dier et et 60 Feftrd o arer & et 81 175 o whalt et e, o s4 P e @
T Fea e v R, T e el e w1 e e o

(A) 2 iz, 48t (B) 2 fime, 44 g

(©) 3fie, d05E (D) 3fe, a5

A train 105 metres long travels at 60 knvhr. How long does it take 1o cross another train 175 metres long,
running at 54 km/hr in the same direction ?

(A) 2 minutes, 48 seconds (B) 2 minutes, 44 seconds

(€) 3 minutes, 40 scconds (D) 3 minutes, 48 scconds

O S @ 9 T 3 St A s e W E | 3 T 9 S e s s e & A g A
S a8 fi 48 Fw e g 1 R oA 3 330 4 A B, 31 7 e o e w R
et (Ffida ) @ e 2

Two guns arc fired from the same place at an imterval of 9 minutes. A person approaching the place
observes that § minutes 48 seconds have elapsed between the hearing of the sound of the two guns. If the
velocity of the sound is 330 ms, at what speed was u.g,:mm.ppnmhm‘,m.:um (in kanvhr) ?

*) 27 ®) 29 (©) 36 ) 33

o AT 6, 600% SR T O R, 30% g & v o R il 150 qfer § @ e e o
it e S i & it 8 et 960 sfvare ve & | ot P ol & wr e du i 0

In a village, 6% of familics have a cow, 30% of familics have a buffalo and each of the 15% of families
has both a cow and a buffalo. In all, there are 960 families in the village. How many families do not have a
cow ora buffalo ?

(a) 240 (B) 200 (©) 280 (D) 260

e e wf effer 70 ¥ fer e 6.4 0 vy e & | 7 o ga i e freen & s fom des s e
it 8, et 37.5% ey e & | At e v s g, o 4§ A 7

A dairyman pays ¥ 6.4 per litre of milk. He then adds water in the milk and sells the mixture at ¥ & per litre,
thereby making a 37.5% profit. What is the proportion of water to milk, in the milk received by the
customers 7

(A) 1:10 B 1:15 © 1:21 (D) 1:20

135, 171, 192 1 EwH SHIEF (HCF) 7/ Fifag |
Find the HCF of 135, 171, 192.
(A) 10 (B) 3 ) 8 D) 9

i wd W 31 Fifae i 310, 550 38 728 @ Fnnfaa w9 o A T aEa 2|
Find the greatest number which when divided by 310, 550, and 728 leaves the same remainder.
A) 222 (B) 212 © 2 D) 22

v 333 et et Terel | 8 dee o e w1 yn et & | A renet o i P § wr i

(A) 80 Fsfiver (B) 110 FfEz (€) 67 Fefivear (D) 77 Pt
A 335 metres long train crosses a pillar in 18 seconds Find the speed of train in km/hr.

(A) 80 kmhr (B) 110 km/hr (C) 67 kmhr (D) 77 km/hr
Teaferfias o o fawm (591s) 7@ Fifsm |

Find the odd one out from the following,

(A) ACEG (B) HILN (C) TVXZ (D) MNOL
T H S S T A |

Find the next number in the series.
144, 169, 196, 225, ?
(A) 298 (B) 256 (C) 284 (D) 266

1w syt o sfafer e i, af ado Xy wfem d
Find the mirror image of given figure, if the mirror is placed at XY.
X

®v
(S w(D 2D wld

s i e wiatae g fife |
Find the next image in the series.

1 n i}
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& sl it et B 8 2 A |-Select--
How many triangles are there in the given figure 7

A) 29 (B) 28 €) 26 oy 27

Choose File | No file chosen

Submit Objection

sharen & i atsirg) el | A Cselect- |
Find the odd one out in the series.
ES, 19, M13, P17, U21

Choose File | No file chosen

Submit Objection

(A) P17 (B) ES © D) U21
o A 1 i v 8w v e e €6 WEE # | O e 1 el W ¥ 52 @ wadt A -Select--
ila’lmﬁh’}msﬁtmaﬂi = B
(A) 5 31m sih 2 see (B) 53 3w | s
(C) 35 3h 4 w6z (D) 4 5 3K 3 FwEn

The cost of a mango is T 8 cach, while a guava costs ¥ 6 each. A woman spends a total of T 52 on these
fruits. How many mangoes and guavas did she buy 7

Choose File | No file chosen

(A) 5 mangoes and 2 guavas (B) 5 mangoes and | guava
(C) 3 mangoes and 4 guavas (D) 4 mangoes and 3 guavas
A w2 i, W i R A, 120 % T e # | W af e e Y W FA F2A A g c |..5,|eﬂ..

A e B | e e e s ) e o # ) e o e e

In'threc containers — yellow, white and black, 120 marbles arc placed. There are twice as many marbles in
the white and yellow containers combined as there are in the black container. Also, there are twice as
many marbles in the black container as there are in the yellow container. How many marbles are there in
the white container ?

Choose File | No file chosen

Submit Objection

(A) 30 By 20 €) 60 ) 40
wig A & A, BE Wit &, C, D & gewi B, B, D @ v & A B & ot B D wad o off B A e @ e B --Select--
it #a

Among five friends, A is heavier than B, C is lighter than D, B is lighter than D but heavier than E. D is
ot the heaviest, Who among them is the heaviest 7

Choose File | No file chosen

= Submit Objection

A) B B A © E ) €

At o A gt fe e g c |-Select--
(A) &= (B) =@ (C) wma (D) e

Pick the odd word out from the given list of words.

(A) Dhaka (B) Kabul (€) India (D) Colombo

o SyEATer ST 2 S afie % e il B il o v | e o A g e B --Select--

a  fin o e £ fedt

b I A EEE WAL (ACLS) § T |

¢ Forfe o e & =g 2 2w |

d. s e i 60 s

e af 3wiEEn & 9w ACLS WA A7 8, A A %) afvg e o e g

£ e e A S AW T 8, 6 R 1 AR Fa & e i s g

£ ;ﬁmmm#mmmmwwmimwktmﬂWW

l

gz i s, B fite & fero o e o wvt anfiee 2

B.Sc_ i, ACLS waifora, evey 3 63% i v | g2 vt qfem A 4 o wfie 8 ok s s

(A) S i ST o s o fer At o ¥ g i

(B) Fedtaam =1 v A v & for e amn

() et e e e &

(D) P &7 % Fore er st &

A hospital i recruiting nurses for its Intensive Care Unit. The criteria for selection are as follows :

o Bachelor's degree in Nursing.

Certification in Advanced Cardiac Life Support (ACLS).

Minimum of 2 years of experience in Critical Care Nursing.

Score of 60% marks in a comperency-based interview.

If the candidate does not have ACLS certification, the case is to be referred to the senior specialist,

If the candidate does not score minimum marks in the interview, the case is to be referred to Head of

Nursing Department

& Ifthe candidate satisfies all other qualifications except work experience, the case s to be referred to
the Director of the Centre.

Based on the scenario, what course of action should be taken for Priya Singh 7

B.Sc. Nursing, ACLS centified, Scored 63% marks in the interview. Experience of 8 years including 4

years in Intensive Care Units.

(A) Casc s 1o be referred to the Head of Nursing Department for further review

(B) Candidate is to be selected for the nursing position

(C) Candidate is not to be selected

(D) Data is inadequate to make a decision

moane

foew e Foet ot @0 sivren o s o e it D --Select--
Find the next figure in the series from the given options.

NITNINISIN
AN

Choose File | No file chosen

nit Objection

s 9 ] S AR 5 ST O S § 0 A S R 6 e A a9 1 g2 ae A --Select--

P wEE i AR A A AN G, wmama

A) wigwfe= @) 7% () e (D) e

A cone is cut through a plane parallel to its base and then the cone that is formed on one side of that plane

is moved. The new part that is left over on the other side of the plane is called

(A) Frustum of acone (B) Cone (€) Cylinder (D) Sphere

e 8 & Tl F-8 A1 o 8 v s waa E D F-Select- ]
(A) Ffm-ww (B) BT (€) wH-Fm (D) -7

‘Which of the following pairs of words are most similar in meaning ?

(A) Hard - Easy (B) Happy - Sad (C) Hot-Cold (D) Quick - Fast

7 v P e e % oA, ST 3:00 7 (e SEREE) TV # & i T o s 7w g, B --Select--

7 e o o o i i, i S e SR )

(A) G E (B) T 3T (©) TEaT (D) Tt s

If a plan leaves New York for London at 3:00 pm. (local time) and the flight duration is of 7 hours, what
time would the planc land, if London is 3 hours ahead of New York 7

Choose File | No file chosen

(A) 6am. (B) 3am. (C) 4am. (D) Sam

AT T c --Select--
e ferern g 7

(A) o (B) FewE (©) FeT (D) FEaT

Complete the analogy

Pen : Write :: Knife : 7
(A) Mix (B) Paint (C) Cut (D) Stitch

Choose File | No file chosen
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O FARRTE W 2 Y 30 2w 8, i s i o v @ o smre o % e o
k9 w8 et 20 e 13 ferwrs e | 2 s g 8:00 79 e g s e A 2 e A
w120 Fie I fear it o v w2

(A) T (B) W ST (C) BT (D) T 6w

A mountaineer ascends 30 feet at the stant of each hour, then pauses 1o rest and slides back 20 feet before
beginning his climb again at the start of the next hour. If he starts his climb at 8:00 a.m., at what time will
he first reach a flag positioned 120 feet above the ground ?

(A) Tpm (B) Spm (©) Spm (D) 6pm.

S ST 1 I I ] T T 31 S A A e 2
Choose the box that is similar to the box formed from the figure of the sheet of paper given.

&
Pt @ & e s 2 R C M@ aT R 2
+ means is the brother of
— means ‘is the sister of”
* means ‘is the father of®
Which of the following means that C is the son of M ?
(A) F-C+NxM (B) M-NxC+F () MxN-C+F (D) N+M-FxC

et i & o ave i s Gear w1 e fen e 2
(A) o A wATE B) wEaEdiE

(C) T g g R | (D) ST @ 2
e d #eah wfa o

(A) & (B) @ (©) af& D) ™
e fmr mfem d

A ) B) () © () @) (1)
e e A A e g 2

(A) =i (B) gfewm (C) swaferm (D) Tgawfem
ST A A T g e

(A) a9 2 o & B g (B) 7 st = 0 A &
(C) T 3T T WA (D) T T EH T R i T

v 1 e v b
(A) FFwEL (B) W (C) wEwa (D)

e — o g et e g
(A) == -1 (B) W - iz (C) =it - gzmi (D) AT - TFE

e wea e o F e et s e a2

(4 = (B) =W © # D) 3E
Freferfeen o & 2 ¥ g ey 1 v i
(A) FHEEE  (B) HEEL © FwHwmHE (D) FWEEL

e 1 T A AT 1 e e & 1 3 H e e mem s g
A) (B) e (€) Fdaa (D) Wt

Tl T % T o, T S # A o | et 8§ - W A § W S

7% 1 e §
(A) T (B) SR (©) Friw (D) ST

At Faf T g 7

(A) A+ fEE (B) At + 3 (C) F+fm (D) ¥+ 7R
o o o A e 2 7

(A) FqEUEwGEL (B) = G @ e

(C) =AT AR (D) = Tt =g =31 |
o e e A R

(A) ST 1 THEAT T (B) TR FEAT
(€) FTITHHA (D) q@F

Tt i w6 Far e s g fren a0

(a) e (B) = () amm (D) T
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(A) dw (B) wfmw@ (C) FmwE

A Yz T fr Frefafe § & wnam 2

(A) W= (B) =T (€) =
firar e ¥ o A E
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Torferr s vt e wrfvm et et e e 7 B
(A) IS T TS A (B) 0 I W BT TF
(C) % WeT 1 #1§ &ifd 4 95 0 (D) T 30 FETH1 FT AT A T

SR 1 S A SR A S # A
(A) e T (B) ==l 1 dfrt

(C) wweget i aEw (D) W 1 STHF 7

FEHE T2 9 Fif | A
Find the dissimilar term.

ACA, BFB, CIC, DLD, EOE

(A) CIC (B) BFB (C) EOE (D) DLD

e i & & ST 1 7 i A Ao i e v e e s e e 6 D

fmmm#z . (49,25, 9

Find the set of numbers amongst the four options that is most like the set given in the question.
Set given : (49, 25, 9)

(A) (39,26,13) (B) (36,25, 16) (C) (64,27, 8) (D) (36,16, 4)

A3 B i E g, A e o i o d e A g aeE B, A § R v s D
27

(A) (B) () T @) (D) @

A introduces B saying, “He is the husband of the granddaughter of the father of my father.” Considering A
as a male person, how is B related o A 7

(A) Brother (B) Grandson (€) Cousin (D) Brother-in-law

aw FEwHl - L, M, N 3 0, v aniwm i i w s aner 6 s ofe v 83 8 1 L, M di anif s der A
BN OFSwaE AR L F Sm i s A A R

Four colleagues — L, M, N and O, are sitting around a square table facing outward. L is sitting to the

immediate left of M. N is sitting to the immediate right of 0. Wha is sitting to the immediate right of L ?

Ay M B L © o Dy N

A 2, 12,36,80,  F e B
Complete the series 2, 12, 36,80, .

(A) 140 (B) 150 © 120 (D) 130

ot T R TR F SR ¥ H H R = e i s Pt s At A

| Rl
] wus
B mc
[ vsap

T D BT S 3 T w2
(A) 684° (B) 78.2° ©) 724 D) 582

Examine the given pic chart regarding production of steel by five states and answer the following question.

B 5o A
[ suten
E suec
] swen
[ swsece

What is the central angle that corresponds 1o the production of steel by State D ?

(A) 684° (B) 78.2° ©) 724 (D) 58.2°

T2 4200 3 30% + 2400 T 35% = 4200 F7 x% &, 7 x 3 7 310 Fiferw | c
Determine the value of x if 30% of 4200 + 35% of 2400 = x% of 4200, find the value of x.

(A) 40 (B) 45 (C) 50 (D) 48

e feen v T v s e ] o e & i # | af wian i e s W@ 42,500 8 A B
T 1 S i, i et v s At

w7 fim 3 fore wieht site s P 3 for et 6 e, it it e it ST AT R
(A) 26,580 (B) £25075 (€) ¥27.860 (D) ¥24,650

The pic chart given here represents the domestic expenditure of a family in percent. Study the chart and
answer the following question if the total monthly income of the family is ¥ 42,500,

Expenditure of Family

Provident Fund

Afier deduction for Child Education and deduction for House Rent, the total monthly income of the family
remains :
(A) 726580 (B) 725,075 (C) ®27.860 (D) £24,650
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PQR , 51 QR %1 o yar pQ 1 eiar & S @ 3 G %9 2 | sy PR S sy pQ i e
ity § | wfefis 539001 8 | Fvgst POR o1 warl 9 sy o) efard e 8

(A) 118 (B) 0% (C) 143 (D) 123

In triangle PQR, length of the side QR is less than twice the length of the side PQ by 3 cm. Length of the

side PR exceeds the length of the side PQ by 14 em. The perimeter is 55 em. The length of the smallest

side of the triangle PQR is :

(A) lem (B) 10cm ©) l4em D) 12em

e s i it e AR aw @ e s A e, i e0% i 45 e s ss e
¥ e w8, e o o g 80 i 0

(A) wfefisfida () 8o (©) sofefisfadar (D) 47 Fefiafasar
What is the average speed of a man who travels between two cities, covering 60% of the distanc
45 minutes and the remaining distance in 55 minutes, where the total distance between the citi
£0km ?

(A) 49 kmph (B) 48 kmph (C) 50 kmph (D) 47 kmph

af 6 A, 2023 1 ER A, A 6 A, 2024 F WE T AAA AW

(A) HEER (B) wfEm (C) HrEm (D) AT
What was the day of the week on 6 April, 2024 if 6% April, 2023 was Thursday ?

(A) Tuesday (B) Saturday (C) Monday (D) Friday
FEAA WA F14 A |

Find the dissimilar number.

2,6,24, 120, 540

(A) 120 (B) 540 ©) 6 (D) 24

o TATEe W W, CAR 7 3118 o 7 & foran =i € | 341 wiar & FUR w1 4 feran smam 2
In a certain language, CAR is written as 3118. How will FUR be written in the same language ?
(A) 65900 (B) 37912 () 62118 (D) W16

ot e F AT A, A, B R s s C, B AR D, cwimE s e c At A DARE
R

(A) = (B) A (©) (D) wisi

In a family of five members, A is B's sister and C is B's mother. D is Cs father and E is C's mother. How
is A related to D ?

(A) Daughter-in-law  (B) Granddaughter  (C) Daughter (D) Niece

o forrt 6 4, T g A A A e g F aAE #
fnmmgm . 2hmw

(A) TEE W EE (B) FHU: TH
(C) e | (D) S w0 - o tfm
From the given options, find the pair which is similar to the given pair.
Given pair .-  Davis Cup : Tennis
(A) Ryder Cup: Golf

(C) Federation Cup : Kho-Kho

(B) Cue Cup : Snooker
(D) James Cup : Car Racing

af MONKEY %1 OQPMGA 3t ZEBRA #1 BGDTC % %% & Fifen fiam e &, &t DEER 1 e wom

wifea i smem 2
If MONKEY is coded as OQPMGA and ZEBRA as BGDTC, then how will DEER be coded ?
(A) 0QGT (B) FGGT (©) BGGT (D) GFFT

# i o & w30 Flt e e ) o wivaw 1 g s 20 Fae e s i o i
sy 10 Fif e | st i o v, 3 20 Flt o aft o o ) ol e e e d

(A) afe (B) I (©) 9= o)

From my house, | walked 30 km to the North, Then | tumed West and covered 20 km and then covered
10 km turning South. Finally tuming 1o the East, | covered 20 km. In which direction am | standing from
my house ?

(A) South (B) North (C) West (D) East

Form gt it gz o qf s 3 w0 ofm A st e &, 5w fe gl o 7.es 7 R st
(A) e @) g () Fwafim o) @

A clock with the hour hand pointing West at 3 p.m. will have its minute hand at 745 p.m. pointing
towards

(A) South (B) North-East (€) North-West (D) East

W & 1T w42 (VAT) fa ad e foar o 2
In which year was VAT introduced at the State level in India ?
(A) 2001 (B) 2000 (C) 2006 (D) 2003

Freferfiaa # & -w v e wfer o et s § e At e

(A) st (B) W&
© o) wfrw
Which of the following languages is nat included in the Eighth Schedule of the Iadian Constitution ?
(A)  English (B) Sanskrit
(€) Urdu (D) Tamil
st i ae F daw e 2
(A) =g (B) et (©) vy (D) hmw
Who is the author of the famous work “Tantraloka” ?
(A) Banabhatta (B) Dandin (C) Bhavabhuti (D) Abhinavagupta
S wreE fw e AT e g
(A) 12 9ad (B) 24 3R (C) 8 R (D) 209
‘On which date is International Literacy Day observed ?
(A) 12" January (B) 24" October (C) 8™ September (D) 20" March
U O I S R F SR, g F s s i g R
Bl

(A) CIFF#MRT  (B) FORFAMTT  (C) T FH F3HE (D) FOBF AT
As per the IMF Balance of Payments Manual, the import and export of goods should be presented on

(A) CIF basis (B) FOR basis (C) ExWorksbasis (D) FOB basis

T W ST 340 e i g 2
(A) Frafe swEm (B) e it B s
(©) fomr s (D) fresd o s

Article 340 of the Indian Constitution deals with :
(A) Election Commission
(C) Finance Commission

(B) Union Public Service Commission
(D) Backward Classes Commission
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WA | T2 FIRER (are nfeamn) Fr e ?

(A) FFEAI-HTAETE SHETE o AT &

(B) & &0 1 39 Geeh STHRUIT 3 feTT ST el &
(C) Tt | F== [ 3l &

(D) S s & fore wh mfermmn

What is the ‘Red Corridor’ in India ?

(A) An area affected by Naxalite-Maoist insurgency
(B) A region known for its tourist attractions

(C) A high security zone in the capital

(D) A corridor for intemational trade

CoBRA F71a frord wiers a1 i w o e g & | wem s sl 20

(A) el o i e G (B) Hze wfcma i 1S T

(C) Wit dee i fpgfed Twee (D) Hze waferas B e
CoBRA is a special operation unit of the Central Reserve Police Force. What does it stand for 7
(A) Commando Baualions for Resolute Action (B) Central Battalions for Rapid Action
(C) Commando Battle for Recoiling Action (D) Central Battalions for Radical Action

i wwrHa, Ao wafmEr Sl & faers wavi S e S o a0 % oo A wideE
o w7 & ot foe T

(A) = e e S (B) iz ST

(C) AT i (D) TEmEE + St s

What term describes the global movement for gender equality, women's empowerment and the elimination
of discrimination and violence against women 7

(A) Black Lives Matter Movement (B) MeToo Movement

(C) Feminist Movement (D) LGBTQ + Rights Movement

wfirg R 9T TR % o g 7

(A) it e (B) Tt &

(C) wafa i (D) SR,

Who is the author of the famous Indian novel ‘Godan’ ?

(A) Munshi Premchand (B) Rabindranath Tagore
(C) Arundhati Roy (D) RK. Narayan

2016 % Fepdrro & e wma ¥ P sl w42

(A) s sizeil (B) e diam (C) i e (D) FEHE

Who was the Finance Minister of India during 2016 demonetization 7

(A)  Arun Jaitley (B) Nirmala Sitharaman (C) Amit Shah (D) Narendra Modi
T T Y (UL ) W A

(A) ATFAT F TR F0T S0 S o O 1 AR FA

(B) i srai &1 Hr

(C) ATt T (erameoftaa) 1 qeai F

(D) Fa=rht wfe o =em v

The main goal of the Human Development Index (HDI) is to :

(A) Assess the overall well-being and quality of life of individuals
(B) Measure economic performance

(C) Evaluate environmental sustainability

(D) Track technological advancements

T HE T FeTH A E

(A) S () (B) et Tl

(€) s (D) A sy (e
The yellowness of the Taj Mahal is an effect of .

(A) Allergens (B) Acid rain

(C) Pollution (D) Ozone depletion

s e we i g 7

(A) ®) feesht (©) F0g (D) 5=
Where is the Indian Institute of Petroleum located ?

(A) Amethi (B) Delhi (C) Dehradun (D) Chennai

Syifir wTR- g Ay F e g v i o e & 2

(A) T AT

(B) T FTFN S G wAe

(C) wefa e

(D) T

The quarterly newspaper “Cyber Pravah™ is an initiative launched by which Ministry ?
(A) Minisry of Defence

(B) Ministry of Youth Affairs and Sports

(C) Ministry of Culture

(D) Ministry of Home Affairs

1 i ity e & e Tl # E T S Bae S e e S At |
(A) TEaH A =H (B) HiRHA () Ffam (D) A
involves online harassment where the user is subjected to a plethora of online messages and

cmails.
(A) Identitytheft  (B) Bomets (C) Phishing (D) Cyberstalking

sifvgeat, itz S e % st  forw 2021 # i v i g & went e

(A) ¥t o (B) wrira T i i g

(€) e vt (D) T T

Who was awarded the Nobel Peace Prize in 2021 for the efforts to protect freedom of expression ?
(A) Abiy Ahmed (B) Mana Ressa and Dmitry Muratov

(C) Greta Thunberg (D) Malala Yousafzai

ot i e

(A fmm (B) wifn (©) swrmen (D) TR

What is the capital of Nagaland ?

(A) lanagar (B) Kohima (C) Aganala (D) Guwahati

2021 % COP26 werary weirem 1 s frm 2w 12

(A) A (B) 3 (UK) (€) e (D) s
Which country hosted the COP26 Climate Conference in 2021 ?

(A) India (B) UK (€) Canada (D) Afghanistan
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e § w2
(A) W SN (B) BT A

(C) s TERE (D) Hrwg

Who is credited with the discovery of radioactivity ?

(A) Albent Einstein  (B) Henri Becquerel

SITE %1 waer #1187

(A) i Gz Sefifaws i

(€) Hewmz g SRt T

What does SITE stand for 7

(A) Source Instructional Television Experiment
(C) Satellite Instructional Television Education

(C) Emest Rutherford (D) Marie Curie

(B) e feave e v
(D) Heee Ffieggrre et TR

(B) Satellite Instructional Television Experiment
(D) Satellite Institutional Television Experiment

a’gﬁmmm(ﬁmaﬁmwﬂﬁzmmﬁmﬁrw%?

(A) ¥ it ®) T (€) wm=E (D) FaTE
What is the capital of the Federation of United Arab Emirates 7

(A) Abu Dhabi (B) Dubai (C) Sharjsh (D) Fujairah
WA e a § 7

(A) T W By Fenfl (©) w@m (D) st
Who has human rights ?

(A) Heads of State (B) Students (C) Everyone (D) Criminals

I vt v gt o e faa (ot wn R o

(A) 3o
© few

(B) =Ted st @m

(D) e i) i wfpt

What is the theme of the North Indian vocal “Thumri” ?

(A) Inspiration
(C) Rebellion

B A T R 2

(A) Hemmindfear  (m) e affn

What is the scientific name of Green gram 7

(A) Medicagosativa (B) Manihot utilissima

(B) Desire and Love
(D) Romantic and Devotional

(©) Fenwh (D) et

(€) Vigna mungo (D) Vigna radiata

St w3 o e (A ) e s s e -
(A) wEE i 1 s 5 v # o sman s s

(B) e i & frawit e 1 vt w0

(€ e il 1 st i fafr o dw gun w0
(D) il it amfes s 3 gen w A i w
In what ways does the Organization for Economic Cooperation and Development (OECD) support

economic development ?

(A) By imposing trade barriers to protect member countries” economics

(B) By restricting foreign investments in member countrics

(€) By improving exchange rate mechanism in member countries” econonies
(D) By promoting policies that improve economic and social well-being

o = sttt | 1 e 3 T A AT 34 o

In which year did the Apollo |1 1 mission successfully land humans on the moon ?

(A) 1970 (B) 1969

© 1972 (D) 1971

Forga 35 et apept afen o e v & oot siter 2004 0 114 7k ot g A e v d

(A) o ferie o s
(©) e =ad

(B) ¥ e

(D) R it

What is the name of the world's oldest man who died at the age of 114 years in April 2024 7

(A) Juan Vicente Pérez Mora
(C) Eugenie Blanchard

Tiereroft 2 1 T TR o ot 2
(A) FHER T

(C) e

Who established the Khilji dynasty ?
(A) Qutbuddin Aibak

(C) Balban

(B) John Tinniswood
(D) Yukichi Chuganji

(B) HeTIEA faersit
(D) wemerdi faert

(B) Alauddin Khilji
(D) Jalaluddin Khilji

WAV H U S

(A) 22T ZE A FAT

(B) wErv & foru wigeit =1 wdifea

(C) Haifesa wrgeit i g2mT

(D) AT 9= 1 U9 ¥ fon 221 71 #ifeq w9 8 F7ad
‘What is the purpose of encryption in cybersecurity ?

(A) To speed up data transfer
(B) To compress files for storage
(C) To delete unwanted files

(D) To convert data into a coded form to prevent unauthorized access

T T S H1 (L0 6.0, F g wel fea 8 0

A) FEan

(€) =pir

(B) anf¥mea da,
(D) el

Where is the headquarters of the United Nations Population Fund (UNFPA) located 7

(A) Geneva
(C) New York

e il 1 e e s AR Y
(A) =&
(C) = 3k wes

(B) Washington DC
(D) Atlanta

(B) e i
D) F

Golden Revolution is related to the production of :

(A) Pulses
(C) Horticulture and Honey

(B) Precious minerals
(D) Jute
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T T o A i o et &

(A) o (B) iwfeman (C) =t st (D) sufrT
The Congo Canyon is found in which continent ?

(A) Asia (B) Australia (C) North America (D) Africa
ffim & 1w A i 2

(A) =T (B) w@rim (C) =T (D) T=mn
Which discase is caused by the deficiency of Vitamin C ?

(A) Scurvy (B) Rickets (C) Beriberi (D) Pellagra

e wfera 6 e S § SR e S SR S e S G e § e
#2

(A) it ST (B) =t sapet
() i s (D) o st

Which Schedule of the Indian Constitution contains provisions regarding the administration and control of
Scheduled Areas and Scheduled Tribes ?

(A) Fifth Schedule (B) Fourth Schedule

(€) Seventh Schedule (D) Sixth Schedule

et 3 & et awin e a1 fia sfaaitea e 2

(A) 7 (B) #feer (©) e (D) =%
‘Who among the following propounded the ‘Saptanga” Theory of political rationality ?
(A) Manu (B) Kautilya (C) Tulsidas (D) Charaka

I S o e e A A g

(A) Frman (B) Fram fiwz (C) Fram e (D) Foram weedt
‘What is the Uttar Pradesh Upper House known as ?

(A) VidhanSabha  (B) VidhanParishad  (C) VidhanMahal (D) Vidhan Mandali

Freiferfiaa & & #15-m1 w0 oA SeTE ((RTERE) T FETUAON w1 HEE S Avi e 7

(A) TE T THT T & T T R O @ g T & v o s g e o e w1
o e et &, = s e Rt s g i A dn

(B) 7w e i & Frds g it 3 v ow arore e e &)

(€)% SRR T 9 et Ao 1 T

(D) e e & o e i afe 3 Pl o o e i 35 i v

‘Which of the followi describes. the o B

(A) It is a phenomenon where particles remain connected such that the state of one particle instandy
influences the state of another, regardless of the distance between them.

(B) Itis the process by which particles are heated 1o extremely high temperatures.

() Ttis the effect of gravitational waves on subatomic particles.

(D) It is the theoretical framework explaining the behaviour of particles at speeds approaching the speed
of light
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